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SA: MOIS S A
M QIAME(UBIDTHE/UCEH)
Pl QIRASMIAHIANS (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
— P 200,000 *1x23] 400
—&d 100,000 x2%*23 400
ORIZMHIA A L2A AlY 2,500
—Z2% 500,000 * 14 A 500
- 400, 0002424 £ Al 800
—&d 300, 0002 *4 4 2 A 1,200
DIAE 20| 2 17,040 18,934 A1,894
101 Q14| 17,040 18,934 A1,894
04 It 22 XS 2% 17,040 18,934 A1,894
ORIAZ220| JI2HK 22X 24 17,040
—Jles 78,88021% 11762 13,883
—F5+d 78,8801 %32 2,525
—oxR3ISIEY
78,8802 % 124+8L 632
N EEE=wI] 18,700 19,000 A300
201 LB 18,700 19,000 A300
01 AlR2:2|H] 9,700 9,700 0
OS&E»LII| M2 S42R (2 2 15) 7Y
50,0009 x2E #2558t Ax13] 2,500
Osg=gez)| Ty E4 7Y
200,000 * 12CH+23] 4,800
OSs=g22I| AHO0IZY 53 2
100,000 % 12CH*2EHA 2,400
02 2229 9,000 9,300 A300
OSs=HLZI| AlAE ST 22
7,500,0002 % 12CH*10/ 100 9,000
LOIDIAUZE] 2 95,710 266,430 A170,720
201 LBH29H| 70,710 48,430 22,280
01 Al22+2|H| 20,860 15,360 5,500
OYZARE 201019 Z)| BSA AX2
300,00024% 14! 300
ORoRIALT)| HE S4+2X 2L
60,0002 <25CH*63] 9,000
ORelpIgz)| Tely EH 2
200,000 #25CH*23] 10,000
ORIDIRALZI| LOIAHIAAE 242
130,000 %174 2% 12 1,560
02 B229HY 49,850 33,070 16,780
ORelpIega)| 2322 < MAl
50,0002 % 1 A+ 128 600
ORIpIALZI| |X| 22|
19,100,0002 %25 %10/100 47,750
OdlgIitERIHI| SXES
5,000 250+ 1200 2 1,500
405 RHAHESH 25,000 218,000 193,000




2A: MOFS=ZAID
M DIHE (YLD DT/ UBIHE)
£hl: CIRAAENHIANE (Ctol: ®M2l)
SH - EHH . O(3) - NRAIY - BAS Ofl st Gl RS2
01 AL SEF SH 25,000 218,000 193,000
ORoloIAe3z)| ¢
25,000,000 1CH 25,000
CFEER=) 1,430 1,430
201 L2 A 1,430 1,430
01 AFR22IHI 1,430 1,430 0
O0HA2E | KXE2(AHY S)
300, 000 *3CH*131%50/100 450
O0jHLZ 21 N Kol
10021%3Z+1,0000H 300
O0ALZ 2t AIREE ¢
20,0002 *2ZE+123] 480
O0AN=RE 2QE=EE ¢
40024*5000H 200
ECEREIEETIBE 13,200 13,163 37
= 13,200
101 Q124H| 13,200 13,163 37
= 13,200
M IIHR2R2IEES 13,200 13,163 37
O0HLZ MAEY BX ol
13,200,0002 %1% 13,200
= 13,200
(2)EZHESMRHI ZH| X 43,645 54,147 210,502
= 43,645
201 L2 A 43,645 41,147 2,498
= 43,645
01 AF222IHI 43,645 41,147 2,498
OAtR2t21H] 31,165
—IIBBHES ML ARE
200,000 11CH*118] 24,200
= 24,200
—IIEPHSE =SARI
20,0002 %208t Ax 122 4,800
= 4,800
—IIEBHSE ANR2E
2,165,0002* 14! 2,165
= 2,165
O3 12,480
—IIEPHEE AR
8,00094 1041 x 13 * 122 12,480
= 12,480
DIIAE2NEH 29 289,344 282,893 6,451
201 L2 A 34,213 32,615 1,598
01 AFRZH2IHI 1,200 1,200 0




2 MOIS=SAI
A DIZSHH(UBIS I/ UBIEHY)
Pl QIRASMIAHIANS (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OSHIE ROIEHIANIAE 222
100,000&*12& 1,200
02 2=222H| 33,013 31,415 1,598
O3dH I3 500,000 %12 6,000
O24H S3tea 300,000 %12 3,600
OZ24IEH 2XANEIA AFBE
10&*6,00021% 123 720
O34 CIgUl AI2Z 40,0002 %122 480
OSBHIH A2 |22l
2,000,000&*101 2 2,000
OZMIE AYRACIAAY RS 20,213
—A2TENH SRE=
151,937,500&*12/100 18,233
—OoIERAIN |
16,500,000&*12/100 1,980
307 SI2t01 & 255,131 250,278 4,853
05 BIZtRIEZ 255,131 250,278 4,853
O24dH 293 =& 255, 131
— &S AL Q124H| 18,299,600 % 12 219,59
—AIAE AR 1,210,00021% 122 14,520
—3ld H&H| 1,751,200 12& 21,015
MOI22S 2453 UBtE3EE/UBIEiA) 714,342 632,810 81,532
== 37,000
Al 677,342
SRS |4 714,342 632,810 81,532
== 37,000
Al 677,342
IS 2S XA 15,052 12,000 3,052
201 22| 15,052 12,000 3,052
01 At22teld| 15,052 12,000 3,052
OZ&I| & JI2I| uHI(AMoe g S)
4,0002*5000H 2,000
OIt2J120I10H &I 15,0002 %2004 A 3,000
O=I2s EE2 ME 1,400
—3 40t 60,0002 x5X*23] 600
—-s2= 1,000 *4Z+2007H 800
QoIZtol TEY HI& 80,0002 831 6,640
OFRASXHAZ SR2UE FHz 2
1,000,000 *14] 1,000
OFUASXANNS HAeES & HASHER 1,012
—SRSE S 1,200&*10H 12
—424H L M === X2
1,000,000 & *14] 1,000
=0I2SHAH nsXA 75,440 59,600 15,840




SA: MOISZAI

HE: NMOISSE SHGHUPIDIHE/UBIHT)

©He. 202SHH s4 (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!

301 YBrEAZ 75,440 59,600 15,840
11 SHAFAIHI X 212 75,440 59,600 15,840
OMOISXISXIHE &4 01t

120, 00021*30 2423 7,200
OMOISXISXHHE! 912=01H]
120,000 +5H*92U*23| 10,800
O=0I2SCH MOILF 2 DKEAS o
120,000 *30H *43] 14,400
OMOIS ZET0I25t6t0te &4 0|
120,00024x20H*13] 2,400
OMOISXISXDS I DT 9,800
— 0t 120,00021%35% 4,200
— = 160, 0002435 5,600
OMOISXIE X 22Xt 1S WA 1,960
-0t 120, 00024%7H 840
=L 160,000 *7% 1,120
OMOISHAEIY =4 ofd]
120, 00021 *40 2 +2 9,600
O=202SHH| EFAIZ Hlm 218
120,000 21%30 2+ 7,200
o2 a)|2Ssst S &It o]
120,000 % 152 1,800
OHIZAHAD |2 =AM ARHE| &I}
0| 120,000 % 152 1,800
OH2Aa)|I2S MZ0AM3| &4 ot
120,000 2% 152 1,800
OHi2Aa)|2S HEE &4 ol
120,000 % 152 1,800
OHI2AHAIISE AILIO CIXE Z2AF
120,000 % 152 1,800
OHI2HAII2S AlD2IH DSNE 3,080
—Oidl 120,00020%11% 1,320
— = 160,000 11 1,760
20ISSCH AR 312,200 276,200 36,000

307 QI2H0| A 312,200 276,200 36,000
02 DIFAANAII B X 165,200 136,200 29,000
OMOIS QAalEtr IS XIRA(2XS 90%)

6,000, 00024% 14l 6,000
OGreen City ZAAI(EXZE HH) 10,000
— A= A|ANDISS 3,000, 00024% 14l 3,000
—HI2HADI2E LFAIEOIF)
3,000,00021% 14l 3,000
— XS EAAWAZTA|EH |3
4,000,0002%1 4! 4,000
OMOIS AIHOPIEID KA (BXS FoH)
10,000, 00021 %14l 10,000




SA MOFS AR
MM MOISSS SH5HUDDTHE/UHIHT)
©He. 202SHH s4 (Crel: & 2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OMNZOT & DHd=I] NBA(BES 90%)
5,000,00021% 14! 5,000
OSHE MOISCH SAFSIES S XY (SXS8
90%) 57,000,00024%14! 57,000
OMOIE NESAMY SIXIA(BEXE HNH)
5,000, 00024% 14! 5,000
OAel TAI BISI|(BXE 90%)
5,000,00021% 14! 5,000
OMOIS SHSAIN SASSA(EES HH)
4,000,00024%14! 4,000
OLETA DEAIE XIRAI(EXS 90%)
2,000,00024%14! 2,000
OAFto 2FEII=D| XA (EES 80%)
15,000,0002*141%80/ 100 12,000
OHIZHAD|I2S =208 25 XA (BES 80%)
12,500,000 *141%80/ 100 10,000
OHI2AHD|2S JIZEMXII| K (EX8 HH)
3,400,00024%14! 3,400
OHIZHADI2E 0143 SAIRE XY (SES HH)
3,500,00024% 14! 3,500
OSHS HIZHCH SAHSIES S XY (SXS8
90%) 32,300,000 %14l 32,300
03 DI MR 2B X 147,000 140,000 7,000
OYZFAIMOIZSE 29H(EX8 FNH)
100,000, 0002 % 14! 100,000
OHIZHAD I 2SSHFAIE S 2HH|(BEE )
47,000,000 %1 4! 47,000
2SS0 AKX 23,000 20,000 3,000
307 DIZHOIA 23,000 20,000 3,000
04 DIZFHATAIRI X 23,000 20,000 3,000
OMOIS HUTIIHE XR(BXE M)
3,000, 00024%14! 3,000
OMOFSRIER 2210H3] KR (BES 80%)
12,500,0002*141%80/ 100 10,000
OHIZAADIEOIE 2R3 N (EXS 80%)
12,500,0002*141%80/ 100 10,000
(£)21C MOIS2S 243 102,000 98,680 3,320
=S 32,000
Al 70,000
301 YEE A 7,000 7,000 0
= 3,500
Al 3,500
04 ZEtIUET2 7,000 7,000 0
OMOFSTISRIGE &52 X2
1,000,00024+7% 7,000
= 3,500
Al 3,500




MOISS AL
MOISSS 245HUNDDHT/ AoHeT)
=Q2SHM |4 FSED)
A - BH - ERI(S) - HRAIY - BAS Gl 2
307 212t01 & 95,000 91,680 3,320
= 28,500
Al 66,500
02 QIZHAAMAHEL 52,000 51,680 320
Odgsst 23 Atel
24,000,000 * 14 24,000
& 7,200
Al 16,800
o8&l =
8,000,000&*14! 8,000
= 2,400
Al 5,600
OMOtS &Z&eldl At
20,000,000 * 14 20,000
& 6,000
Al 14,000
03 SIIHHMEE2AHIEX 43,000 40,000 3,000
OMis=2s =& 24 X
43,000,000 14] 43,000
= 12,900
Al 30,100
MOI=23 MIAHISHAL 170,000 150,000 20,000
301 wpteEd 20,000 0 20,000
08 QIztel= 20,000 0 20,000
OMiotsg
1,000, 000220 20,000
306 %= 150,000 150,000
01 €43 150,000 150,000 0
Ol MOtSAIE0tS
150,000, 0003 * 14 150,000
(S)HIEAHAD RS 16,650 16,330 320
= 5,000
Al 11,650
307 212t01 & 16,650 16,330 320
& 5,000
Al 11,650
02 Sl2tA 4t 6,650 6,330 320
OHIZAHADI2S imE=3
1,650,000+ 14! 1,650
= 500
Al 1,150
OBIEAIAD] 243t
5,000,000 * 14 5,000
& 1,500
Al 3,500




S MOIS=AMD
HIM: MOIS2S Z4SHULIZ I/ UBHEHE)
Ctel: 20I2SCHH |4
S - BB B9I(EH) - NRAR - BAS e
03 QIIHR B E 2G| B X 10,000 10,000
OHti2Ha)|2s 45t =8 29 X
10,000,000 14! 10,000
[ 3,000
7,000
THIEAIE 2 (LBI22 A /ABHEHE) 432,336 431,784
z 35,508
[ 27,470
Al 369,358
SANAE2Y 432,336 431,784
z 35,508
[ 27,470
369,358
NEENEEE] 26,320 27,100
301 Y2 A S 5,520 6,300
11 BAFAIHIXI 22 5,520 6,300
ORI AR DS 04|
120,0002%20H =13 2,400
OXEZA 843512 28t |As =4 ol
120,000 x3H*22 %23 1,440
OXESA 43512 /5t 2ats| 24 o]
120, 00021%7 223 1,680
307 212+0|& 12,800 12,800
02 DIZFHAIAIIE X 12,800 12,800
OXLEA DILZINHIE X (EXE HH)
,900,0002 %14l 1,900
OXAEZAL H22AIL SAIES IR(2XE )
5,000,000 14l 5,000
OXIAZAHIE! AAIX] 22t S XJ(EXE HNH)
1,900,000 * 14! 1,900
OXHAZ AL ODHHID] XA (BXS &)
4,000,000 % 14! 4,000
401 AlEHI L2 0HH 8,000 8,000
01 Al&H] 8,000 8,000
ORI SAHIE HI|IHMEZ AlSH
1,500,0002 %23 3,000
OXIAZALIE HE 46|
5,000,000 * 14! 5,000
X+ EALRHH S 10,000 10,000
307 212+0|& 10,000 10,000
04 QIZFSHAIAIRIE X 10,000 10,000
OYFAl HSA U3 KR (BEXS FoH)
10,000,000 * 13 10,000
()= S8 HA=SAIEE It MHIA X 4,634 4,786
z 2,317




SAN: MOtSSAtR
3 USAHE 2(LE333y/283d)
o ARSAMESY (choy: 242
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 695
Al 1,622
307 eI2to| ™ 4,634 4,786 A152
s 2,317
= 695
Al 1,622
02 QIZHHAAIEE X 4,634 4,786 A152
OXHESAHIE XHESAHL 288 X3
4,634,00021%14] 4.634
s 2,317
= 695
Al 1,622
(B)HESAL 2OUI0IH X - S4 66,382 64,898 1,484
= 33,191
= 9,957
Al 23,234
307 2I2t01 ™ 66,382 64,898 1,484
= 33,191
= 9,957
Al 23,234
05 RIZI?IE= 66,382 64,898 1,484
OXHESAMIEH ROUI0IE XI&
66,382,000 *14| 66,382
= 33,191
= 9,957
Al 23,234
() HESAH2 325,000 325,000 0
= 16,818
Al 308, 182
307 2I2t01 325,000 325,000 0
& 16,818
Al 308, 182
02 I B AP E X 10,000 10,000 0
OXEE NSAEZIY 29 X3
10,000,000& *14] 10,000
= 2,818
Al 7,182
05 RIZI?IE= 315,000 315,000 0
OXNESAHIH =28 XA
315,000,000 * 14| 315,000
& 14,000
Al 301,000
Xosd 2el(2H2/ ) 44,870 38,070 6,800
Agetd 28 44,870 38,070 6,800




SA: MOISS AL
HE: [eiEd Be(EH/ )
el UiEd 2d (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
NAES SRS 39,270 32,470 6,800
201 Zer=2g| 24,550 17,060 7,490
01 Al 22 900 900 0
OXIES U #HAAA & S22 M 900
—S28Y 100 *2Z5+1,5000H 300
—E=S MR 60,0002 *2F*53] 600
02 3329 23,650 16, 160 7,490
OXHLSASIRA 2| B
12,000,00024%14} 12,000
OXHLSASIRA QX2
50,0005 1,250
ORI LS AIBHEAl B
1,300,00024+85 10,400
301 LPHENZ 12,720 13,410 2630
11 SAAHIXI2 2 12,720 13,410 2690
OXHES Z0H3l &It ol
120,00081%25% 3,000
ONHBSEHA AT J|EAl &I} O
120,00081%25% 3,000
OXES HACH3| &It it
120,00024+25% 3,000
OXZNAES MOILE L AEHEEE &Db Ot
120,00081%25% 3,000
OXHES29IR5] &It 01|
120,00024 12 +63] 720
307 QIZHOIX 2,000 2,000 0
03 RIZIEHHI M H 2B X 2,000 2,000 0
ORI SEANYATAIECIE 2 N (2XS
HoH) 2,000, 00024x14! 2,000
IEYHZ 2 5,600 5,600
206 24| 1,200 1,200
01 X224l 1,200 1,200 0
OREUZ 28 7
2,000 +35+20074 1,200
303 ZAS 4,400 4,400 0
e 4,400 4,400
OSHS ZENIZ2S AINS 4,400
—%|2% 500,000 *2JH & 1,000
e 400,0002#47H 1,600
—&d 300, 000 & *6IH 2 1,800
BHSSZHI(MOFSZ At (J1EHJIE) 82,918 80,734 2,184
PR 82,918 80,734 2,184
PIEEL 82,918 80,734 2,184
201 YER | 23,278 21,004 2,184
01 AlR22H 23,278 21,004 2,184




2A: MOFS=ZAID
M HHSHAHI(MOISEAI) (JIEHDIE
2 =2 (Cto: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OSALEX 72 20,0002 * 148+ Ax 122 3,360
OSZ20iAY| 8,000 *7Alx 14 %122 9,408
Otz 100,000 * 122 1,200
OLA2 TAZLLI 50,000 122 600
OARL 24 7,030
—=2A0| 22 1,000,000+ 1CH 1,000
—I2IE g 100, 0002 *3CH*50/100 150
—=SAD| EY 200,000 %55+ 1CH 1,000
—T2IE EL(SH)
200, 0002 %53 *3CH 3,000
—TRIE EU(Z)
200,000 %53+ 1CH 1,000
—PC =l 100,000 14CH*20/ 100 280
—JIE 22/t] 50,00021* 12 600
OJIEF AFR2t2IH] 10,0002+ 143 x 12 1,680
202 Ot 55,440 55,440 0
NENEED 55,440 55,440
OZ2Liodtl 20,0002+ 14 x 122U+ 128 40,320
OZ2l04b| 120,000 2% 14% 9 15,120
203 HREEH| 3,000 3,000 0
04 ENSHAREZAIH 3,000 3,000
ORASYY 2| 250,008+ 128 3,000
204 Z 24| 1,200 1,200
01 ZHUZ AR5 AH| 1,200 1,200 0
OREHIARABHAH| (MOISEALLE)
100,000+ 12122 1,200




